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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that this
Booklet does not have any unprinted or torn or missing pages or items, etc. If any

of the above defects is found, get it replaced by a Complete Question Booklet of the
available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical

Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 70 questions carrying equal marks. All questions must
be attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a

black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

Immediately after the final bell indicating the closure of the examination. stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet

is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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Climate change means
a) Change in local weather conditions
b) Change in day to day weather
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c) Change in global or regional weather patterns

d) Change in rainfall pattern

TEOTND FTOCE, 20T
a) AVeoD 5m3®5 WORENYY WIS
b) @5‘@3 3 aﬁwmsd@ wdmds@

C) mﬁ% Slabn a_a)de% BRI INTONSE), WTRHTE

d) SOFoD TRTOHE WTCHTT

. According to National Forest Policy, 1952,

of forest cover in India.
a) 22% b) 33.3%

CDwGOi) eﬁdsa ~e3, 1952 © T,593, RTBTY e, Qv&) Clelas

a) 22% b) 33. 3%

. Quinine is obtained from which plant ?

a) Coconut b) Cinchona
835" &, cdRwm FZ,H0T YT DFRRIZT ?
a) 3o b) xodne

. What causes human-wildlife conflict ?

a) Increase in forest area
¢) Adequate rainfall

BRTD - T WD BOFRFT

5

a) dd&‘a wdmtﬁ@ 3
C) —om m@wﬁ

TOTEITIE ?

La

Biodiesel is obtained from

a) Coconut b) Jatropha
z%éaﬁ’ VOB CINR)TOOT TECH TN
a) 30N FTOW

ST ?

b) z&dp,exe

should be the percentage

c) 50% d) 25%
) B TEBITUIRO 2
C) 50% d) 25%
c) Eucalyptus d) Pongamia
C) eOND d) =i

b) Decrease in forest area
d) None of the above

c¢) Jackfruit d) Neem

C\ o171y

\\\\\\
X
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6. Salumarada Thimmakka is known for

10.

a) Women empowerment b) Organic farming
¢) Tree planting d) None of these
TOEOWOTRD 533535 TITO DT «Upﬁ,%a;mﬁd ?
a) &% BWIETTED b) T B
c) A3, EROF d) odeFTe s,

. Air pollution causes
a) Growth in plants b) Good weather
c) Respiratory problems d) None of the above
2050 BROT) CIRPTI, 0630 BRWIBT ?
a) 3N WIBedn b) V3 TIORNT
C) EVATIEIT SPOTWTNEL d) F0edT BT )

. The following gets deposited in the arteries and causes heart ailments
a) Carbohydrates b) Proteins
¢) Cholesterol d) None of the above
TBZPNTD a0 é@ﬁ%@d@od T,TO BOWO TS WTBT
a) PURFF T, e b) Fp,ctdex’
C) SRSRT d) S0eOT TRPYTR B
What type of waste can be composted ?
a) Glass b) Plastic
c) Vegetable peels d) None of the above
03 De8oD auﬁa‘oq rifa%d BRTBLTOTO ?
a) Mo b) =15
C) IT0 2[R d) S0edT cIRRTe e
COD refers to
a) Chemical Oxygen Demand b) Biochemical Oxygen Demand
c) Chiorine Oxygen Demand d) Cadmium Oxygen Demand
wu@ Qodd

(/? b) t»w\m\ﬁwOSV \.«U\,x\) L;'A“\J\"\ \:?5
o) 39@6 : SZ:T BN d) T, 50300 BIRT ATRCT

~ J ~
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11. Forest (Conservation) Act

*
(62]
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a) 1970 b) 1980 c) 1990 d) 2000
908, (FOTTFED) F20WT
a) 1970 b) 1980 c) 1990 d) 2000
12. Chernoby! accident is a
a) Dam explosion b) Sail pollution
¢) Noise pollution d) Nuclear disaster
WIREF N WTFOBR) LoD
a) BETY ARE b) S0e3S TROT,
C) W IR, d) $TBeea0 TOTOE
13. Which of the following is a non-renewable source of energy ?
a) Solar Energy b) Nuclear Energy
c) Wind Energy d) Geothermal Energy
FINTIINTE, CINPT SREBOTTNT IR YVTOHTT ?
a) T3} b) @o=e0 33
C) TN T3 d) PRZIT I3
14. Pulse Polio Immunization Programme was launched in India in
a) 1990 b) 1980 c) 1995 d) 2000
T Fpedodne wxF Fo0IFE OB WROITY, WO 0T WAF
a) 1990 b) 1980 c) 1995 d) 2000
15. The most abundant gas in the environment is
a) Nitrogen b) Argon c) Helium d) Oxygen

DOBOTTEITE), B, T,RRETY, QTIT BV

a) ToTRIT b) smest c) oo d) SRxS3
16. Bones are affected by

a) Fluorine b) lodine c¢) Bromine d) Chlorine

TS Foeed AT TOFTOTO WeTOST

a) TROF* b) 03RRI c) iR et d) ZoeoT
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17. Montreal Protocol was signed in which year ?

a) 1980 b) 1987 c) 1978 d) 1986

TR0, 0 TP, EIRCTITTRY IR TTETY Flo WRTWSHOLD 7

a) 1980 b) 1987 c) 1978 d) 1986
18. Which gases are responsible for global warming ?

a) Noble gases b) Inert gases

c) Greenhouse gases d) Radioactive gases

O3RN SONR WINST ToweIen OB FaTEINTS 2

a) YUTIRT LRONL b) %& edonwhd

C) TATOROS VIONT d) Q8Tedee QoD
19. Forest Conservation Act was enacted in the year

a) 1981 b) 1983 c) 1982 d) 1980

©0e3; BOTTE F20I 00T CINT W TY, WONRRYALDOT ?

a) 1981 b) 1983 c) 1982 d) 1980
20. Minamata disease is caused due to

a) Lead b) Chromium c) Arsenic d) Mercury

QORI BREMEY) 03N FITEIROTIIN YVOLMITE ?

a) AR b) 3,eQ00300 C) SReIT® d) SowTH

21. Malaria is caused due to

a) Taenia b) Plasmodium c) Streptococcus d) Salmonella
F0Se003R BTWOOT WTITT
a) t3edodmw b) wpAReR0d0 C) FFRERE d) PSRRI,
22. Polio is caused by
a) Fungi b) Bacteria c) Protozoa d) Virus
jaw ¢ YVOERMITT) 0INT)TO0B ?
a) 9903, b) 3,8 §00dm c) perdecdnam  d) $0F
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23. Chemical commonly used to adulterate turmeric is

24.

25.

26.

a) Cadmium chloride
c) Mercuric chloride

b) Lead chromate
d) Copper sulphate

&0 m 30T INREO I ms TN YUTCIRENTIT ToR03IE 372

a) s ‘e/o:bow\ 3

o

) TTWTRT i@@t‘é“

O

Chlorination of water is done for

a) Decrease oxygen

c¢) Disinfection

Q20T BRLOETTEIDOTNIED TOTE)
a) SRRTIT IR

C) &@er LRRFUT

Disease affecting the respiratory tract
a) Influenza
c) Rabies

Insulin is secreted by
a) Spleen
c) Pancreas

QWO aiverﬂ—%f
) -(;m
C) 3 $5eiResess n,oQ

. Thickness of ozone layer is measured using

a) Joule b) Dobson

h A= ot e DD
:\.UJ.Q/"J WO Loy

3 e —
a) & b) mwT

IOV VDNV DIVl

b) et 8m, easoees’
d) 0s30,T B e

b) Increase oxygen
d) None of the above

b) emwsEs By
d) 6O RVTP Y,

b) Polyps
d) None of the above

b) Fpeds’
d) S0edT YT ©Y,

b) Liver
d) Thyroid

c) Decibel

o e __.)“___,_.J_.._)\ " v290 =
W o7

o
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28. Fluoride pollution mainly affects
a) Teeth b) Heart
PREGT 204, ¢ A
a) Y b) = *‘Vdo‘b

29.

30.

31.

32.

33.

Largest ecosystems of the world are
a) Oceans b) Forests

b) "d?’* nEd

he vector for transmission of malaria
a) Male housefly
c) Female anopheles mosquito

0300 TRMZIY DOTOW 83

a) Momd IR A

c) oom T

o 3

@-.— =2 ~eS
J D)

[3

ZoRT = =, m CIRQYW ?

R A

¢) Brain d) Kidney

260 3,808 SO0 WS TeTT N SRR 2

c) RoT%L d) Soe3,or
c) Rivers d) Grasslands
c) Jansd d) Soenomed

b) Male anopheles mosquito
d) Female housefly

b) Row wmesdFF A<
d) Tea Jees

0]

Which one of the following is a result of overpopulation ?

a) Water shortage
c) Increase in forest cover

b) Increase in rainfall
d) None of the above

@ e o -~ | ¢ L e — - L
FENTRNTD) TR £HT wWRH0A, 0D HOT0TT[oNT ?

NEF™ @S0~
a) (O ‘49935
e — = pm ) =ZnZ s
C) ©0es, T,TeTTY DBY
s ™ 3

Chipko Movement started in
a) Uttarakhand
c) Karnataka

b) =¥ & )

d) S0edT cInFTe 85y,
b) Tamil Nadu

d) Goa

b) 5 4\:.—-‘\

How many goals are adopted to achieve Sustainable Development ?

a) WITNOT

C) BTTFUT

a) 10 b) 17

AT RF DT TWHTLE DL TOONFR &5
< [ 9 (&

a) 10 b) 17

~—r

c) 15 d) 20
CTRABRYNT ?
c) 15 d) 20
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34. New species entering a geographical area is called as

a) Endangered species b) Pandemic species

C) Exotic species d) Endemic species

20T LTRSS @’tﬁs@jaa‘% ,eATIT TR WML )

a) LVLTOUTYTOT B, PeTRW b) 059,508 30D B, LeTRL

C) T £9 2308030 B, PeTned d) N@ecﬁo 30D Ty ’fdmb
35. India’'s maximum energy needs are met through

a) Wind energy b) Geothermal energy

c) Solar energy d) Fossil fuels

YIRTIT MOR TIOD BN NI CIRFYTT Sopws FT, SROIN3T ?

a) IIT T3 b) z;nsa:@d I$

C) APT 38 d) BBc0VED BOTI

36. Vitamin C deficiency resulis in

a) Anemia b) Beriberi ¢) Kwashiorkor d) Scurvy
22T - 2 03 BRTISC0T WTE BREN
a) eIe0odDd b) 30230 C) TOACINTFT’ d) moF

]

37. Which of the following is a secondary air pollutant ?

a) SO, b) CO c) PAN d) NO,
FINIZINYY, cIBRYTO L2e 03> THOIN TRITTTF 2
a) SO, b) CcO c) PAN d) NO,

38. Deforestation is caused due to

a) Natural activities b) Human activities

¢) Both (a) and (b) d) None of the above
coe, 1:1 ToUE CIRJYDO ?

a) 73,7?“' 2 LOTLERD b) @RTE WrOTLINW
C) (b) Tene (b) dTER d) SotOT oIRPTe B
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39.

40.

41.

42.

43.

- 536 1%

HIV is transmitted through

a) Drug abuse

c) Blood transfusion
... BDOBRODFN FITEANTD
a) [WNTT 355:35

C) TETR

(VRSO R

b) STD
d) All of the above

b) mf.83.8.
d) @0eIT R,

The best preventive measure against oral cancer is

a) Drinking clean water

c) Reducing alcohol consumption
23002 @ﬁda& CTRIOVONIN m?yojo VD
a) 2T VT BRIV

C) T,T0T 3BT

Pacific, Atlantic, Indian are examples of
a) Deserts
c) Grasslands

b) Control of tobacco consumption
d) Dietary modification

b) 0w JexI 3RS
d) &m0 T3S WRTOR

b) Oceans
d) Tropical rainforest

TALT, E30835°, LTTECORN (QOBOIT®) QYN o:ba@zjﬁﬁ POTTOTTES ?

a) TWOTIERRIN
C) TOLQMRTLON

Cauvery river originates in

a) Tamil Nadu b) Andhra
TR0 SOHOD YUNEd AT
a) BT b) o3,

b) zonongd
d) mxgam@waw BOFTTONL

c¢) Karnataka d) Kerala

C) IJF 3B

Which pollution causes hearing loss in humans ?

a) Water pollution
¢) Soil pollution

b) Air pollution
d) Noise pollution

a) x® m@:sd
C) WedS WRIT,

b) =odw SRS,

= —
d) Zw RO,
(o8} 1)
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44. Which of .the following causes soil pollution ?
a) Chemical fertilizers b) Acid rain
¢) Chemical pesticides d) Al of the above
ﬁ@;ﬂa‘gf%ﬁ@ O3 3) mréaﬁ D) \Lﬁ‘; TOTETRNIZES ?
a) TORODVE dmmwdmfo b) &5z =9
C) TORODNE SeemIErD d) Teds 0mp
45. Endemism is a characteristic of
a) Bqu Sanctuaries b) Wildlife Sanctuaries
¢) National Parks d) Hotspots of Biodiversity
13; COTIT (D0TAT0) 0INTTT wﬁr*aﬁzj 2
a) 38T b) 33,2360 €533 RTeY, TR0
C) ca%éecm C0T3, I d) 22T 0T T W TN
46. 3R refers to
a) Reduction, Reuse, Recycle
b) Regeneration, Reproduction, Reuses
c) Reduce, Reuse, Recycle
d) Reproduction, Reduce, Reuse
330 0TT
a) owTT, DODRAS, On)ﬁ@‘
b) Oa:udeou , 0T, zssw DCIRRE®
C) dcara 5, DO, ox T
d) Owj@aﬁw&* ] tmraﬁﬂ Oojm:f
47. Water (Prevention and Control of Pollution) Act
a) 1974 b) 1986 c) 1980 d) 1970
2030 (RO, daa’mbwﬁ =02 Q00T £9) F00T
a) 1974 ; b) 1986 c) 1980 d) 1970
48. Environment (Protection) Act was enacted in the year
a) 1986 b) 1991 c) 1980 d) 1981
TORT (FOTEE) Fo0I 0T IR [RFTA, WO TTTCW ?
a) 1986 b) 1991 cy1980 = a8l
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49 Which micronutrient is essential for plant growth ?

a) Potassium b) Nitrogen ¢) Phosphorus d) Zinc
B3, IR o353 AR, | TREREOTNG iz s 2
2) P, 30D0 (R0) b) TTWIT C) Sows d) =2

50. Black lung disease is an occupational hazard due to mining of
a) Copper mining b) Lead mining
c) Iron ore mining d) Coal mining

B eNs STODTT 3P, TTLRET PSR By, MESMOF TRTTOT

N ovra
a) 3030,T NEIMR0T b) 23T Redmood
€) BV ET BOOS NeINo0T d) 3QTOI Nedro0T
51. Which substance causes ozone layer depletion ?
a) Chloro fluoro carbon b) Carbon fluoro chlorine
c¢) Carbon dioxide d) Nitrogen oxide
03N BRI LR’ TTTT FeSTER TTITINIET 9
a) 3Redne FRETRE FWFT b) TowrS® FRedre FROT
C) QOTROT Bt = d) Jn s i
52. Following is not an animal protein
a) Soyabean b) Milk c) Egg d) Meat
QT T, EITW; T, LT’ WY,
a) BeecIRWeSt b) o C) e d) <I»oz
53. India ranks in world population.
a) 2 b) 3 c) 4 d) 1
DT wIF083, 0309, T WITYS.
a) 2 b) 3 c) 4 d) 1
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54. Study of skin is termed as

a) Anatomy
¢) Etiology

WROF DO, T ), 000 Loeriz B3
a) BTOLIN t
c) AQodnecL

55. Landslides are caused due to
a) Deforestation in hills
c) Both (a) and (b)
LEBIRBNTL OF LVoLPNOI 2
a) WYNYQ, ©Tey T
C) (a) monw (b) TBER

56. The disease caused by nitrate deficiency

a) Blue baby syndrome
c) AIDS

5,43, et 1Y 8p0B0000T WIE deen
a) R, 236w A0TBR, ¢
C) O

57. Ramsar Convention is related to
a) Forests b) Wetlands

QP - 536

b) Dermatology
d) Pathology

b) @=ortened
d) Sgeeene?

b) House construction in hills
d) None of the above

b) ziésm* 20063 Fo ATIFD
d) ﬁoc’@w OXRRTR B,

b) Fluorosis
d) None of the above

b) RTeeAx
d) Soeds CIRHTIR B,

c¢) Rivers d) Oceans

D50 0° AeNm eIy FENS oim@d% TOWORAT ?

a) TR b) ®PRO T, "Besned

58. Producers are also known as
a) Decomposers
c) Autotrophs
Npep) dﬁd:w 20T FTO0TIT.
a) & ?,jw'U"dD
C) \jwﬁf@iﬁ \c:\):

59. Region were the river meets the sea

C) SN d) monond

b) Heterotrophs
d) Saprotrophs

b) e, o5
d) 3 @geéﬁ@)ew

e
o

J

a) Shore b) Delta c¢) Ecotone d) Estuary
TJ)—J\.«)DVCS Ll)c,fm ’v@ '\>\\.\.:j (@13 (\
a) 3R b) Be?, c) ssEpctines® d) QT

SPACE FOR ROUGH WORK
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60. Where is Sundarbans National Park "7
a) Karnataka
c) Madhya Pradesh
FOOTTWE' Tody o VT, BRS WO T ?
a) TooFEds
c) mﬁdaj,dca’

0 0

b) Gujarat
d) West Bengal

b) roeoos’

d) B vona
[

61. Which of the following is a vector borne disease ?

a) Cancer b) Tetanus ¢) Dengue d) Diabetes

33 FIFOBRNTE), 0XRTYTO BCLINVOT TTWO Tert 2

a) B,IT b) Fowor o3 c) @onw, d) Sgndes
62. International Yoga Day

a) 215! May b) 215t June

c) 5t June d) 215t September

@osdm%eob odeen &

a) 21 Soe b) 21 wpRT®

C) 5 wRI* d) 21 ZBowo’
63. O stands for

a) Ozone b) Oxide c) Oxygen d) Nitrogen

tug (O5) 00 Tpeae TBRT

a) wEnes® b) &t & C) wBwS’ d) §ncnT
64. Deficiency of vitamins and minerals leads to

a) Tuberculosis b) Obesity ¢) Thyroidism d) Malnutrition

DEIDNTE ToNR DT0BNY FRTI0D) TWOFTT)

a) iiod)dram b) m%@@ojo C) 3,To00wWR0 d) TP
65. Human health depends on

a) Mind and exercise
c) Heredity and environment
BRTZT BReN Y DRNTT, ©BOOWATITTS
a) OTH W mdqmﬁa
C) ©R0TodeoT =02 [OTIWTE?

SPACE FOR ROUGH VVOR
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66. Which of the following are threats to biodiversity ?

a) Poaching b) Invasive species
¢) Deforestation d) All of the above
8 TINTPYNYE, 0dnsyzd zamagmdéﬁ 90NN 7
a) 23e3CIRNTWOYI b) €38,30e2dew T LIeTNES
C) T3 d) RoedT 2y,
67. What are the causes of soil erosion ?
a) Deforestation b) Overgrazing
¢) Mining d) All of the above
DI ADST TTeANT 2
a) T, T3 b) €98037N 2FOTTOTY FoECIATTO
C) Medmo0d d) 0O QP

68. Study of birds is known as

a) Palaenology b) Entomology ¢) Herpetology d) Ornithology

TNV @qsimsssg{ DI BTCHGRMOTT ?

a) R, JTee b) dee3zox, C) DLFEPOR d) ST
69. The least preferred technique in disposal of municipal solid waste is

a) Incineration b) Landfilling

c¢) Composting d) Vermicomposting

RTILIOD T, &, T NSO, FIF ST D VTS

a) R esTED b) w0 ger

C) WIZRRWT d) TRRWT
70. Ozone layer is present in

a) Stratosphere b) Mesosphere

c) Troposphere d) lonosphere

FPNT N TTTHQ_ LA [TITT ?

a) woé:\.t\'”)"-é\c‘ b) 3\5’:”\??’\.5:_“:

C) tif:y\wm;::&o" d) ':':531?51:;:‘
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